HENEREREES i
DH4E6H23H (K

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

SE 108 <IN 77.6 50 20
£S5 297.3 840 359
JUH LA 88.8 461 20
LSHLA 90.2 506 30
TFELSI LA 270.1 719 51
=EAHLA 81.6 370 20
HSRALA 31.4 276 20
<7+ 85.7 1,439 961
F7> 07 1,309.0 130 26
HFHS 168.3 50 28
2 A ULAE 22.5 4,200 3,300 |o o
=E SV 43.0 416 239
FALY 20.8 5,100 1,000
e INY 36.0 | 41,414 6,300 |5 o
AX5T 34.7 619 20
ZILAA T3 721.6 439 119
UL 36.0 1,240 839
U D5 20.0 7,777 4,572 | oV
> RUA7] 23.6 522 480
vFEST 2,226.9 756 69
AFF<3 468.5 2,800 1,000

aitaE 6,153.6




(B : kg)

§::322)
PEE S =V e B E = fE 7 fE " &
BEIEXRHE 1298 [(<H/( 27.7 80 22
ESX 1,729.3 680 100
AAZHLA 67.8 1,019 456
VLA 179.4 508 159
LEALA 111.7 330 30
2OoF 24.5 170 30
N1 99.8 650 201
oag+4 39.5 350 211
FIA 34.5 200 20
7> 901.2 169 30
HFH>S 133.8 39 20
o> 23.9 1,300 800
RAXF 259.5 1,141 650
dEZHAN 367.1 70 20
RORD 294.1 740 33
N bS5 A 147.4 300 109
ESWYXHZ 35.6 739 100
ERVAA 30.3 400 270
Bt 5% Ry FHA 1,505.8 750 220
RKE®E 478 YU 1,502.8 600
Bk 28 7oE 3.2 17,000 9,000
SFtHE 7,518.9




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
HE  10% <7+ 562.5 1,800 1,300
X453 55.1 900 750
EEXFE 1298 £S5 7,676.3 800 300
ASHLA 163.9 800 300
~IAHLA 235.2 8,000 300
<A A 244.8 1,300 200
RZF 348.8 1,280 500
CHE 9,286.6




